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Questionl:-The social reformer of Kerala who conducted Villuvandi Samaram
against caste discriminations
2308 aws%m :)dog DT 3@3& VBAT FEOYE 33992 PICT

A:-Sahodaran Ayyappan
BT eaogoga‘

B:-Ayyankali
esogooa)e:?

C:-Chattampi Swamikal
2383903 mamﬁef

D:-Vaikunda Swamikal
fgﬁooca’ TOAITEE
Ph
Correct Answer:- Option-B
Question2:-Who established Thattvabodhini Sabha at Calcutta in 1839 ?
1839 39 s03erQ 33230 FPI0dF FAHTO 03500 ?

A:-Keshab Chandra Sen
Fe3wt (Alen) RIS

B:-Debendranath Tagore
BeLdeom mop® Darieco®

C:-Swami Vivekananda
maé:)o DSCTIN 0T

D:-Dayananda Saraswathi
B odoon o sdga

Correct Answer:- Option-B
Question3:-The place where the First War of Indian Independence broke out in 1857
1857 39 9033 mﬁéo\ép ST S oI é""

A:-Lucknow
@6@5



B:-Kanpur
Fagbo‘;

C:-Meerut
AOCT3S

D:-Delhi
aLHY)

Correct Answer:- Option-C

Question4:-Oath of Tennis Court was related to which among the following
revolutions ?
e3Q=° BeeE o g’ojég?ain B8 FYNT 03093 F087F B0WORAT ?

A:-French Revolution
SHOWE F03
B:-Cuban Revolution
BN 908
C:-Chineese Revolution
3 Qex° F903
D:-Russian Revolution
O= 3903
Correct Answer:- Option-A
Question5:-Who is the present Chairman of Indian Space Research Organization ?
R0 3e03 mmpé 203CTM Sogoi) BTG eacggdo 035900 ?

A:-Dr. S. Somanath
39, DI’ ARCIOVIR®

B:-Dr. V. Narayanan
. Q. PT2030EIW®

C:-Dr. K. Sivan
@o. 3. 8R0°

D:-Dr. K. Radhakrishnan
@o. . OoRITHD®

Correct Answer:- Option-B

Question6:-Kerala Folklore Academy situated in which district of Kerala ?
BCOY 23oURT 9TREN FCOYE 0dvess B30T ?

A:-Thrissure
3850°

B:-Kannur
693@60

C:-Kozhikode



BROCYBNRCTS

D:-Thiruvananthapuram
S0OIVO3R)T0

Correct Answer:- Option-B

Question7:-In 2022 Fifa World Cup Football final, which country's team was
defeated ?
2022 T &5 ::)gﬁw—‘ @ésbwej“ %Kﬁef 89, 0doos3 Be3r 30@eY) BPC3T ?

A:-Brazil
gzﬁef

B:-France
R,

C:-Spain
e

D:-England
Qoriow®

Correct Answer:- Option-B

Question8:-The poetry collection Ambalamani is the work of
0 ORIES TIT F0TOTD) V=T T3

A:-Balamaniamma
moaiosﬁabd@o

B:-M. T. Vasudevan Nair
0. 3. JTCI®® P03T®

C:-O. N. V. Kurup
. V. Q. BTOXE

D:-Sugatha Kumari
2013 BS990

Correct Answer:- Option-D

Question9:-In which year, Kumaran Asan National Institute of Culture was
established at Thonnakkal ?
él/a§§ef ) BORBIOR® LRO° oagideodo 30@3 30§o§o§o 03008 IRETY m@&ﬁmo&o& ?

A:-1958
B:-1962

C:-1965

D:-1972



Correct Answer:- Option-A
Questionl10:-In 2024 World Chess Championship who was defeated by D. Gukesh ?
2024 © 3’% U3° We0030N° 8% B &. rogest odmdﬁb 2RCAAT0L ?

A:-Magnus Carlsen
ngzs Eaei,s‘a“

B:-Veselin Tapalov
SR 3B SReD®

C:-Ding Liren
Ror® ABewn®

D:-Garry Kasparov
mzsb TORTBRCH®
]
Correct Answer:- Option-C
Questionll:-The deepest point in the Indian Ocean is
0B/ S0BFINTCT @:3’03 YD IY

A:-Sunda Deep
2000 Bzt

B:-Challenger Deep
W30 0° BeR®

C:-Brownson Deep
WO Bex®

~N

D:-Factorian Deep
mzﬁmweaaba‘ fex®

Correct Answer:- Option-A

Questionl2:-The hot wind that blows over the Gangetic Plain during Summer is
23e2riodd rore 200IT Boees Dexos D Mo

A:-Kalabaisakhi
moz%ﬁaﬁ)

B:-Loo
V)

C:-Sirocco
?\,tiraifali

D:-Khamsin
Q39OPE
nN
Correct Answer:- Option-B

Question13:-Which among the following states have the largest area under forest
cover in India ?
03B 98 égo esdsa'sa 3 deéégo BHODTOR Oo%s 0350330 ?



A:-Nagaland
mm%mocss

B:-Meghalaya
S0

C:-Madhya Pradesh
wz;,s)gcses

D:-Uttar Pradesh
V30 I 3e3
o U
Correct Answer:- Option-C

Questionl4:-The first hydroelectric Project in Kerala, Pallivasal is located on which
among the following rivers ?
BOYE ST HONFIF® 03,0200 SR’ B FYNT 00503 BHOD Soeds zedrieoR ?

A:-Muthirappuzha
dwgdo—-’%@;’

B:-ldamalayar
YBRSOO03ITE

C:-Mullayar
S0Q03I0°

D:-Cheruthoni Aar
WoORBRC es0f

Correct Answer:- Option-A

Questionl15:-The most polluted river in Kerala is
oL A eagos FOVAS BD

A:-Chaliyar
239903000°

B:-Kallaipuzha
3,9

C:-Karamana Aar
FOSO® e30°

D:-Kadalundipuzha
TEOVORTY

Correct Answer:- Option-B

Questionl6:-Which of the following statements best explains the role of NITI Aayog
in India ?
8% FYNT 0309s3 BEFINLD Pa03BY Aed esodeend mgdﬁb &UZR0ON DBOROZS 7

A:-NITI Aayog centralizes planning and decision-making, reducing the
autonomy of states in policy matters
0ed sodeen odpew B IET SridoBAgHIBdLT Fe0RFDRZ, To0de Ved daodnvd)



oagsri@e’ maojogé’ojoﬁb TRRD SDIBOZW

B:-NITI Aayog focuses on the economic growth of the country and ignores
regional disparities
0ed es0dpensd) tesd BT 3R)R0D Sred FeoBerdaIM S0P Y8 WRBRTINYIL

QOFIROIZTI
C:-NITI Aayog facilitates the creation of state-specific policies by fostering

collaboration between the central and state governments
eog P> Tags FEETNY @0 ABOIRENST RIS ST Tag-ADEH 50000 dedne

dz&ﬁoﬁaﬁb ved esadeen Ron=onteYzI3n
D:-NITI Aayog's primary focus is on implementing policies without consulting

state governments to ensure uniformity in development
©Z PP HFCABI0T) mz&éﬁé%%@gw Oo%s ABIFONFR0DN RIS 03T

mabs‘&)eéﬁv’go eaabou_aoairi/a@?ma@dd Boed3 Aed e30deent FBPAT NSOBITI

Correct Answer:- Option-C

Question17:-Which of the following is NOT a key feature of the New Economic Policy
(NEP) of 1991 in India?
83 FINBJYNYY 0dreF)B0 19913 0030 Bex 8PET Aedod (NEP) g30 03 ?

A:-Liberalization of trade and investment
290 B0 BRBFOD YVEedCTT e

B:-Nationalization of key industries
FB0D %m@%mf 0o £50 €

C:-Devaluation of the Indian Rupee
2903030 TR0 %dﬁe%cwso

D:-Privatization of state-owned enterprises
OTO m{%ow emcgmmf RNCTO €

Correct Answer:- Option-B

Questionl18:-Which of the following is a specialized financial institution established
in India to promote rural development and provide credit for agricultural and rural
industries ?

8 IINTINFY Myoeed R[R0LT) eu3ezizen [P F B0 MY FMedINdr Koo

WNEOVRAR o a] V) m@&ﬁm BCR BT 5o§ 035930 ?

A:-National Bank for Agriculture and Rural Development (NABARD)
mgéeﬁ 2IQ05° OO e.‘@ﬁgd)o‘ e30%5° Owd e zﬁd@ﬁe?és‘ (NABARD)

B:-Small Industries Development Bank of India (SIDBI)
m@eﬁ ‘aoc{&je;?‘ cé‘doﬁ@yésﬁ mﬂoas e35° QoB03ve (SIDBI)

C:-Industrial Development Bank of India (IDBI)
'aoc{agodoeﬁ édoo—-i/oés‘ ?,332503s e35° qo&0dve (IDBI)

D:-Life Insurance Corporation of India (LIC)
5° QROTR® Foper Sesn® eg® Bor’odm (LIC)



Correct Answer:- Option-A

Question19:-Which of the following statements about the Green Revolution in India
is NOT correct ?
03R Y BT T30 zori B FYNS BeYINYY 0o 3D0NY ?

A:-The Green Revolution led to the adoption of high-yielding variety (HYV)
seeds, chemical fertilizers and pesticides in Indian agriculture
B0V T3040 Pav3eaddy FA0LY éa&;ﬁ QI ACBOR DG (HYV) Dezsried, 05003007

RegTTed K03 3etsTBENIR BFSRATRTL 90003

B:-The Green Revolution primarily focused on promoting organic farming
methods and reducing chemical inputs in agriculture
B0V 3080000 FIYFATDN 0303033 A IPBNFTY GLZeEROFBY [0 FA0LY Teme0dIT

3—-’3 mdr‘i%@o TRRD DINBIR)RC 0ees 360@6%3mﬁd

C:-The Green Revolution resulted in a significant increase in wheat and rice
production
S0 T30 eeh) P ©F eVFIEBOLY NLOTIBE HYE, T08:300030

D:-The Green Revolution contributed to an increase in agricultural productivity
but also led to regional disparities in terms of access to technology and benefits.
B0V F03030 TA HVSATTI0D évg@’%mmmo&)&, &SB3 303250 S0 T odRewIne

BBOIVAFOD BNET JROVBA F3EWe8T WRTIOVINPTT FoT £0:5003030

Correct Answer:- Option-B

Question20:-Which of the following crops is known as the 'Golden Fibre' of India ?
88 FYNS 03003 zSeiodogo P03 'zsgcs 00" 0TV FBOLWINIZW ?

A:-Cotton
3

-0

B:-Banana Fibre
2399 D0V

C:-Wheat
Reed

D:-Jute
28R

Correct Answer:- Option-D

Question21:-In which landmark case did the Supreme Court of India, while
delivering it's verdict, state that "there is no anti-thesis between the Fundamental
Rights and Directive Principles of State Policy. One supplements the other" ?
0350=3 BRICVB BTOLWY IATIB A0 BRI Sg 3@@53 QeBOFN, "oazg e300

S0P R3 aggmb R0 AWer 3D ngf V@O 0doo)Be ﬁdw%oéﬁ ATBRCTIQ). 2,063 ‘aaizgdeg
ROTRAFROIR" 0G0 BT ?

A:-Maneka Gandhi Vs Union of India
OB M0 Vs 25903 zog.fau



B:-Kesavananda Bharati Vs State of Kerala
FCBIR0E T3 Vs 0 0%

C:-K. M. Nanavati Vs State of Bombay
3. I0%. PR3 Vs a»ozé’j 0%

D:-Nirmal Singh Kahlon Vs State of Punjab
QROESF 20n° SFI* Vs Fozsoes® 0oy

Correct Answer:- Option-B

Question22:-Tarkunde Committee, Dinesh Goswami Committee and Indrajit Gupta
Committee, all investigated the same issue in India. What is the common subject of
inquiry examined by all these committies ?

F9B0F 07 203, BT 11AeFN B8 [P YOZ R rmy B YD POITY wotde R

w1} 3033 FBABS). B8 Y IW3ND BOBeAIT w5003 mdmg QRO 0359HRO 7

A:-Electoral Reforms
WONIREI APV FHNYD

B:-Freedom of Press
RETO 9303
S B

C:-Women Issues
S0&P03T 5&?71@90

D:-Globalisation
23N SCTO

Correct Answer:- Option-A

Question23:-With reference to the writ, Mandamus, consider the following
statements :

1. Mandamus literally means a command or an order.

2. Mandamus will not issue against a private individual.

3. Mandamus will issue against the President of India.

4. Mandamus is used to order the authority which refuses to perform a public duty.
Which of the statements given above is/are correct ?

Oe3t, méocssoss nY eugeddeodrt 88 I$NT ée@u"ﬁrﬂ@a’go 208c :

1. ngwm:ﬁ 9ZOBs e5§ 9GP0 3533,

2. 23N géodo Steliny :m?joca’dms QBN VY.

3. P03 es%sgd D0 méozsdos"' VB NIZT,

4, TOREWAT 535-%3 VI &I QTITOROS ea@a)ddgp e3c3e85e0 m%ocmmg) WFRINOZT,
30083 QB IE 03795 BCYF/BCFBTND FDA3TINS ?

A:-1, 2 and 3
1,233 3

B:-1, 2 and 4
1,2 33§J4

C:-1,3and 4



1,3 303 4

D:-All the above are correct
R0eDT QIO 3D0ITNES

Correct Answer:- Option-B

Question24:-Consider the following statements with regard to the duties of Election
Commission of India.

1. To prepare electoral rolls.

2. To notify the dates and schedules of elections.

3. To grant recognition to political parties.

4. To advice the president on matters relating to the disqualifications of the
members of Parliament.

Which of the statements given above is/are correct ?

PI03B WoNONTee esadeend ssrgmf WRNS B8 YN ée%mfgo 2083 :

1. S03weTT miodogb 30359020)30.

2. 2OP9=353030 HPe0sNRLd [FoZ a‘s’ceaamédmfg» 9 DBRWRIR)R.

3. Domdeodd IFNYNR mgs QCBIZRO.

4. 3033 365§d PBE SNV 302 0PAT dRorY Wik m@ﬁéneﬁﬁ OB ACBIZED.
20083 QBT 0300x HCYT/BCYENL 3O03INS ?

A:-1,2 and 3
1,233 3

B:-2, 3 and 4
2,334

C:-1,3and 4
1, 33024

D:-All the above are correct
B0V dYIP 3D03INES

Correct Answer:- Option-D
Question25:-Where was India's first Constitution Park inaugurated in 2024 ?
2024 09 59030 ST F0IGT GLTIRBIBT) OY GLTAILSO0D ?

A:-Hyderabad
BB0WR°

B:-New Delhi
M ALAY)

C:-Pune

R

D:-Bhopal
T
Correct Answer:- Option-C

Question26:-Consider the following statements with regard to the responsible
Tourism project in Kerala.



1. The Responsible Tourism project was launched in Kerala in 2008.

2. Responsible Tourism aspires to foster better economic benefits and the well
being of local people and communities.

3. This project focuses on three aspects : Social, environmental and economic.
4. In 2013, the responsible tourism project in Kumarakom received the Ulysses
award.

Which of the statements given above is/are correct ?

BOYRQ w2300 T mijac%i:n 03Re%RO WRNS B8 FENI éc@?@m@) 208c2.

1. 2008 BQ 3e0IEQ %0e79D03N3 FFoRe R 0deezdobP> YT oPZSNS,

2. %29390000038 BHRRAGRID) SRET ©Ieh [P FPeod &IT adeerigesd B0
RE0TAAYR BVZTN 23T3e 20RZE.

3. 8% odcziodn FBEE, OO BB BPET B Zoe0) o3 Boed 37 NSOIBF

30Q) e50ROTT.

4. 2013 99, 2RR0TR° IPS %:59239000003 BHedRGR adpezdodn 0dndsa* F3R0F
BBOW.

X008 ABONE HeFBFNFE) 030030 D03TNT/S ?

A:-1, 2 and 3
1,2 3033

B:-1, 2 and 4
1,234

C:-1,3and 4
1, 33034

D:-All the above are correct
R0V DY 3D3IINES

Correct Answer:- Option-D

Question27:-The new Chairperson of Kerala State Human Rights Commission
5c0Y 0% PVORIVY ﬁgamf e3030¢NE BB eazzz,ssgdo

A:-Justice Alexander Thomas
mzsosb SRS eada?oocﬁo"‘ POV

B:-V. Geetha
. NE3d

C:-Justice M.M. Pareed Pillai
mzsob RIRIE DNO. NO. BOCH® d’o*%

D:-Justice Antony Dominic
903> Soe3E 8oL BRIV

Correct Answer:- Option-A

Question28:-Consider the following statements with regard to the Kerala Model of
Development.

1. Kerala model as a set of high material quality of life indicators coinciding with
low per capita incomes.



2. Amartya Sen and Jean Dreze have long championed Kerala's development
experience in their numerous works.

3. John Ratcliffe showed that the causative factor underlying Kerala's social
achievements was social justice.

4. The main criticism is that Kerala model has not created enough jobs, leading
many people to work abroad.

Which of the statements given above is/are correct ?

eazpwe@poio FOY 0030030 WRNS B8 FYNS ée@%ﬁ@gﬂo 2038c2.

1. 583 3o 8we0dR0RT BR0BFOIRNMI He3T FAWITY VTS B3 NIRRT 2,080
rOoweN FeCY I593 0.

2. eam:gs Bew® 0D 2ed® B 3 BOHITY 33nve seovs eﬂzpd@)a‘pwaioz;ﬁdﬁb Qe e z00n
B 3DDITT.

3. 2390° Tot3® $5° TS0 FCOYR 1030025 FPNNYN BPa0=0N0 F90T 90830633 Fo3I0ess
09030 0T 3ReDITT.

4. 3e0Y SeED00N FTFO LVERENNTEL FAIY 00 B0P £3eF000 VTET &0 AeBFY
FOR BBV TIT£93aMT,

20088 ACB T 0dvos BEYFNRLD 303N ?

A:-1, 2 and 3
1,233

B:-1, 2 and 4
1,2 ai)§34

C:-1,3and 4
1,333 4

D:-All the above are correct
R0eDT QIO 3D03TNES

Correct Answer:- Option-D

Question29:-The only Regional Rural Bank from India included in the 2024 Forbes
list of the World's best banks
2024 T Fpcw's 30000 FeDZNCLS HTB 93)Z30 wBNYY Le03E DTT FyTedT Mydoeed

maoas
A:-Federal Bank
PR’ m?soas

B:-NABARD Bank
ARIC mzpss

C:-Kerala Gramin Bank
BeO¥ N9’ 290T°

D:-Malanad Rural Development Bank
SOOTIGE’ NYCTOYZ D) WOF*

Correct Answer:- Option-C
Question30:-Following option is not a type of system software



BINT ITYI) 23:30° TopE,3¢0° B 2080 FBoRT SNCIDHDE

A:-Windows
DOBWRCR®

B:-Linker
9os0¢

C:-MS Excel
0. DF. cbéNeﬁ

D:-Loader
3RCBTE

Correct Answer:- Option-C
Question31:-Device that helps to prevent congestion and data collisions
dzgﬁ S0 Beesd ?Pd?ﬁoi)ﬁb 3B03LLV FFHIOZ IIBEORN TIPS

A:-Proxy server
RIT A€ O°

B:-Switch
238

0y

C:-Hub
DS

D:-Gateway
ee3s e

Correct Answer:- Option-B
Question32:-It Act, 2000 is notified on
20e3 6&05% ZOOOdQJ B8 DB oY Qﬁwsmﬁd

A:-26 Jan. 1999
26 30930 1999

B:-15 Aug. 1999
15 e&ni=¢,1999

C:-17 Oct. 2000
17 wmwmos 2000

D:-10 Jan. 2000
10 %®=0 2000
Correct Answer:- Option-C

Question33:-The National Awards for e-Governance 2024 were conferred during the
.7#» National Conference on e-Governance held in which city ?
0353 BB FBE 27 We TRe0d ¥-LBYI 35%}@%”('\569;? B-EY3 20245N Do codd

BBNI DB ?
- T d

A:-Mumbai



3300?%

B:-Chennai

o

C:-Kochi
50t}

D:-Delhi
(&LHY)

Correct Answer:- Option-A

Question34:-Which of the following is an exemption under the Right to Information
(RTI) Act, 2005 ?
33083 $§o (esT® &3 ) a)oﬁ%S 20050 809 8 FLNIHNYY adresyso &moaoéodoglb BB

?

A:-Information that would enhance the financial accessibility of government
departments
AOToD YeRINY $REFT T ﬁcédgo éz%sﬁow =008

B:-Information pertaining to deliberations at cabinet meetings
RoR)E3 3PNFS) el YR 50w 0NAE BI0ded

C:-Information that would impede the process of investigation
33030 B3 0301t R3OS B0k

D:-Judicial records of the appointment of judges
mzsosb@ezb ReR0T303 méomoﬁ DoDSMLH

Correct Answer:- Option-B

Question35:-Which of the following statements accurately reflects a right of
consumers under the Consumer Protection Act, 2019 ?
NY&®T K00FEe 5003), 20198 ©B0LY Mw®ss s§§> QDTN T 3V0NROT BeYF 030030 7

A:-Consumers have the right to demand unlimited returns on all purchased
products without any conditions
NYBTCL Toc3) DVCDIT DL emggm’ 29003003 &oédoﬂ:b&)ﬁodogn 0d0o)Te ROBNYLT

BP0V BT BRPOH0IST

B:-Consumers can only seek redressal for complaints if they have a lawyer
representing them
ADL o0 :Sdg)go S30DROB s%codgo BR0NZT [0, 3%3 Beoonen 38@65@ LIDIOIAL -V AN)

C:-Consumers have the right to be informed about the quality, quantity and
price of goods or services before making a purchase
NYBTOL DOCR BIBORN L5,E 0 AT PR ACSNY O8O3, B[00 SOZ) wSod> wri

ée?obgzsod $§§o &ao&cﬁoagd



D:-Consumers are not entitled to compensation for damages caused by
defective products if they have used the product improperly
ADL 00 emggdgo 9POLZHN WRGT BecRAINT mg§n@ow VO0EIT TaANYN 36@65@

BBV BETNCIF)D)

Correct Answer:- Option-C

Question36:-Which of the following statements accurately describes a function of
the National Human Rights Commission (NHRC) under the Protection of Human
Rights Act, 1993 ?

B SYNT BeBriv’y) 0350380 19930 SRIS B¢ 500gme Fo0d)od 0B Togeadd Sous

é?ﬁ@e’ esadeena (NHRC) Fc)odoi-'dgb TN DZOROIE ?

A:-The NHRC can impose penalties on individuals for human rights violations
SIPS S?ﬁv eveogrsnen NHRC ?émf 2300€} ToRE DPTBITO

B:-The NHRC is empowered to investigate human rights violations only upon
receiving a formal complaint from a victim
20330003 B399 BRSO zgﬁam £930303¢ NHRC 30083 agm«: emggoa;’ﬁa?ojoﬁb 3083 SraE e

29Q)TC BRPORT

C:-The NHRC can recommend measures to prevent human rights violations
and promote awareness of human rights issues
INSDTVN §§omf emggoa;’»ﬁcﬁoib chriggoo R0 IV agomf 5§J§mf 1§ 25er}8 SR

gdomfﬁb NHRC 850030 R50620 30030
D:-The NHRC has the authority to directly enforce laws related to human rights

in India
(AR o AT ISRV $§orie?ﬁ 20 0T ammwgp Re0=N 2300 PYOI 950 NHRC 1R 93

Correct Answer:- Option-C

Question37:-Which of the following statements accurately reflects a provision of the
Protection of Children from Sexual Offences (POCSO) Act, 2012 ?
8 3YNE 0dvoss BeYBTied 20123 SoNs D’DuFR?SS&ocS abg*%f oges (POCSO) 5203003

&)uocja"o\bQJ QDTN &3NS ?
A:-The POCSO Act allows for the trial of cases to be conducted in any court

without special provisions for child victims
X033 mg@mﬁ DBeR RIOFINYYT 0decy)ase mdoioaoobcig? Fsoeani? a’)mdﬁodogb SBI

POCSO %0%) =508 Ae@I3e

B:-The POCSO Act mandates that all cases must be investigated and tried
within a specified time frame to ensure swift justice for child victims
R033 mg@mﬁ gbé a%od\mib a)z&ééé?omgw DY gwm@e’go (‘()af'_f;\ A00OT RPN 3083

008 50T YSRLICR ©0Eo POCSO 5203 est3e8x03u
C:-The POCSO Act permits the disclosure of a child's identity during legal

proceedings to ensure transparency
mddé;ﬁé’owgo s)zssammgw TORRRY FFONY 3300303 oo rbdo:a’Qb

W&TonBRBZe0 POCSO 5003) 9R0=08R03T8



D:-The POCSO Act requires that consent from children under 18 years is valid
in cases of sexual interaction, provided they are in a relationship with the accused
38,003,001 PoY)T F02) 0T BROWZT 18 5‘-&?%03 TR 03T mgee’ wrfodo cgjoﬂﬁ QIS

Feoenedd doghmerieiedony POCSO 520300300 PRI

Correct Answer:- Option-B

Question38:-Which of the following statements is true regarding the recent
developments in the Indian economy as highlighted in current affairs ?
S8 Sgdeémffc“‘) DGFOTENF0S B R 0303 BRETI00 Qs WFIeIrinY o0

TN 03093 BeYINLD AN 7

A:-The Indian government has decided to abolish the Production Linked
Incentive (PLI) scheme for White Goods due to lack of interest from manufacturers
3030003000 373030 B,eT030000WN O3 F0TI0R) WY FOTONYNN ma‘aﬁﬁ 20WO0R3 é@ea’?s

(P ) oifaczsﬁodogb SgoRRYRIe APEOT
B:-The Indian government has selected 24 companies under the PLI scheme

for White Goods, committing an investment of Rs. 3,516 crore
DY FoBONRYNIN 23903 FCTI0I) Cve. 3,516 Eocks ma@odogb SIEIR IROT AN 0

odeczdodoiodd) 24 ﬁoo—-’o(‘()rﬁ%fgo eso&% x0T
C:-The Indian economy has seen a decline in foreign investments, leading to a

reduction in job creation
pa0deadd 8RETZ0IL Jed BABINTY BASITO FoBFD, FWO BVTAEN FAY [IST

TOO 930N T

D:-The Indian government has announced that it will not pursue any further
collaborations in the FinTech sector
S £35° S©0RY adse)te éz&;ﬁ Sao&acrﬁm@o BV0BIBORIRF DY DO 27903 KOTO

FRCAIT

Correct Answer:- Option-B

Question39:-Family engagement is considered essential in early childhood
education because
303*@’ m%msgodo 8763 VLW mwmmy@wo wgﬁgdom R0NeIRPnO3A. HJ0WT

A:-It enables educators to integrate family culture and values into the
classroom and fosters personalised learning
QRO Tk3O0 50@3 R0 @%)mfgb 301i803,eYnR DBcg3rtedien 8gedydn R

R0BBREIZE S0 §§ DBACT ﬁeﬁﬁoioﬁb (AERVEA
B:-It allows teachers to implement standardised methods across different

family backgrounds
VRO DG Be3002) éo@iciﬁefeg ZInedez3 &’)qmdﬁ@e’go T N3RYReL 83507 ROF)

RPRERBOZI



C:-It encourages educators to guide families toward adopting a uniform
cultural framework
TGO DTORBE T207,3T 250TRO OFIBABALSF BotoNIR SoereBBe s ewen 3geasgotd

RR CTELRIZTI
D:-It reduces the need for collaboration between families and schools,

maintaining clear boundaries
TG 38 iR 50JBRFHE ST Bk S0P ZSNY BRIIT FHdRENE BNZSTd

B8 0BT

Correct Answer:- Option-A

Question40:-According to regional adaptations which of the following is the primary
focus of the curriculum in pre-primary educational institutions ?
88 FINTI)NYY 59W8T BP0WIETENY FTo0, FRFNT 87eo Sogmfg? mggm RIBT NMBOVR)

03593)aNT?

A:-A uniform syllabus for all regions to maintain standardisation
SRNEICTOSFO TowBBRYD HE FWeBNIT HFCHZT STFRO

B:-A syllabus designed to align with the local environment and community
needs
3903 FBRC [0Z) 3BT @ﬁgﬁ@?ﬁ £9BONIEIDIN a:@M%m aggwo

C:-A syllabus focused only on academic skills
3geds @é%)mf Roeel B8 Fe0RTONS acggm

D:-A globally adapted syllabus without regional inputs
@dcéﬁéojogo WIRPYIE 259N3TIIN TSI BT 0B 5%5553

Correct Answer:- Option-B

Question41:-How did the contributions of Christian missionaries to Kerala's
education system significantly influence its socio-cultural transformation in the 1%
and 20t centuries ?

198¢ 03 203¢ 333503nFY éé;é&bas QORVONY BB , FTYD 830 ?dgojo FORIILIT-

mog)éﬁ TUama0300 S0eeS BTt M omde oN &, mwwﬁb DedS ?
A:-By establishing schools and colleges to promote modern education, offering

science and English to all communities
DY FBVTINAYR SUSDIVONTS 'aoﬁﬂg—-igb QeR 3TOAT égeodﬁb UZCIL0 TN O

ﬁaécwmfgo m@&z’ow SROT
B:-By maintaining educational systems to preserve caste divisions and

reinforce hierarchies
2508 mpua?mfgo R008Re0 dogogeeﬁn@e’ga WORBID %geéﬁ §s§ﬁq§o QAR E RN NPT

C:-By focusing only on religious teachings, neglecting the inclusion of modern
scientific methods
POET WRCTINY 30083 [Iog NROTVHORIZ BSTONT a;ga&ﬁ &)mr\m%”ﬁb ﬁeaﬁo@dﬁb VO BROD

RONPOT

D:-By limiting education opportunities to Christian groups, excluding other



social communities
Q30 TORIVLT 5dx)cmodomf§a >R N0 ééuowv noozx)ndn %g&iﬁ eadfaémfgb

2CAIBNAFRIE OPOT

Correct Answer:- Option-A

Question42:-What do you think is the main duty of an early childhood professional ?
m%)cs 38300 M%J 635—'? QOB VC) aoaiﬁb IONRO3ED ?

A:-Ensure children memorise academic content
wogf@eb %g&iﬁ :nmmgo BOBDT BIBOE Qg mz&éﬁ&%éﬁ%b@do

B:-Solely interact with children without involving families or communities
BOED0W ML) 9P Smeodoﬁefﬁb u@ﬁmg’d mgg;moaﬁ BI0Z FOBBD VHAIRDO

C:-Maintain strict discipline without flexibility in teaching methods
(AVON AR ARV AL, 6552533 pldla] TeAE3HI éggo mm&&@gﬁ@do

D:-Support children's holistic development, including physical, emotional,
social and cognitive aspects
%7, mwmgﬁ, ROBINWT [0 90T eaoéﬁe;’ﬁb w¥RRoE03 mfea’ 307, eaz,?):g)&(zai)go

23020 DROJBO

Correct Answer:- Option-D

Question43:-Which statements align with John Dewey's philosophy on the
relationship between education and democracy ?

1. Education is a tool for fostering democratic values like equality and freedom.

2. Education should prepare individuals to participate actively in democratic
processes.

3. Education emphasises standardised testing to ensure societal equality.

4. Education discourages authoritarian governance by promoting critical thinking.
0doex BeYBND 880 0D F m@zﬁogd VBEOD® 30WORE TR 230° BEAO3ORT Sguaqg’dfao&ﬁ

BR0RFAIIINIZ 7

1. 8geasdonanndd 33RE 23 5Z0gE 03B F2eH g SPOMRH WIFRT TE.

2. 8ge0sd) FINVRH B2sem g g3 odoriv) 330dowen perimszen AEH BRI,

3. 79359238 FRPRI0F) DeISIRIZRFLD e FRPedegs SOER W VBFA.

4. 8380 0T FT 203B0DT HLZELROT BPOT T HFTOD BBIIIFO ACISIHIATRIZT.

A:-1,2 and 4
1,2 53§J4

B:-1 and 3
13033

C:-2and 4
23034

D:-1, 3and 4
1,334

Correct Answer:- Option-A
Question44:-How does Developmentally Appropriate Practice (DAP) contribute to



societal progress in preschool education ?
eazpag)a‘pmg eazpag’u (DAP) @?Jaos 8gean @ mo300e3T FN3rt senrt Berort AeBOZE ?

A:-By prioritising standardised testing for measuring early childhood success
mcgw Qi)é§§o ©godoen FRieedd B0 eszga" ACBIS SMROT

B:-By fostering the holistic development of children, including social and
emotional skills
FIRIVT 0B LOBWFT @égﬁ@d@y’ﬁfaocs :ni;%f A07, ﬁ%sﬁﬁo&oﬁb RYPCARIR DOPOT

C:-By focusing solely on academic achievements in early years
00T IR NYY B3eds FoPuNY SoeeS I5g, FeoResdRIN Boews

D:-By limiting learning experiences to structured environments
{9/ {0b%) @mwwwgg O%309gs H0x0 YR 2eQBRAYOS I0POT

Correct Answer:- Option-B

Question45:-The main difference between the educational philosophies of
Montessori and Piaget regarding child development and learning is
dage;’ IADEARVEY 337§ 0w 0RAT0Z =I00e330 F0Z> 03920 ST BTess 3%3@,71%9 N ESMN

SR0D 5335’,30656
S
A:-Montessori-Emphasises sensory experiences

Piaget-Emphasises cognitive development
B3008330-303eB™ WVOPIAIR 230ACBIZTS

$030928- 90V WFSIEINN 2BoeBOITI
B:-Montessori-Promotes symbolic thinking

Piaget-Promotes group learning through social interaction
B9008330-5005¢3% zSoSa?odoﬁb VAR A

203592 59:300%T FOSHRA BT 10w FATLTO euderizodd
C:-Montessori-Emphasises teacher-directed learning methods

Piaget-Emphasises cognitive development through independent learning
B5008330-833-Aies 83 FOF03 RNV wIHATIZTI

£03502-3308, 3OF0D S0e0T VDI W¥Sedirt wHIwIZH
D:-Montessori-Emphasises structured learning environment

Piaget-Emphasises natural learning
mowga-msmgs )% 367566& WIOACBOZT

&oimzi’-a‘g’,sﬂrﬁ FIEN 2w30ABOZR
Correct Answer:- Option-A

Question46:-Which of the following is an essential skill for early childhood educators
?

89 FYNSIHNFD 03B m%)d 8gzort @gﬁgm @égmﬁd ?

A:-Technical knowledge
39Q37 230
@x

B:-Observation skills



&)egm Fo3ened
3

C:-Solely focusing on curriculum
ﬁg TR 30083 FIog NSOTVBORIZEO

A

D:-Strict adherence to pre-determined teaching
BRI AT 03 230wt TN @o&ﬁﬁgb@do

Correct Answer:- Option-B

Question47:-Why is cultural competence important for early childhood educators ?
m%)d 8gzont mo@éﬁ mm%ﬁr DT d»%)mﬂc‘)’ ?

A:-It helps them create a standardised approach
QRO =0 BRoeeder3 é:)tpaaﬁdgb TR0 %030 SINBIZT

B:-It ensures respect for children's diverse background
RAAN mgv a;:bcgmab &RSH ri’adaiwﬁb DWIBRROITI

C:-It eliminates collaboration with families
T B0k NERDNT FH0IRENST) IrioTTZH

D:-It enhances academic success without considering social factors
YR TORIWT eaoémfgo Fifelatwria] édgaﬁs obéggb £z§§o§d

Correct Answer:- Option-B

Question48:-Which of the following factors are essential in the organization of pre-
primary educational institutions ?

1. Trained teachers with expertise in early childhood education.

2. Safe and stimulating environments for children.

3. Focus solely on academic achievement.

4. Provision of age-appropriate learning materials

RORE-FOPT 830 30§rw Rogre38030) B8 FYNT 0303 903N ea:gﬁg

1. 2309 8gedQ) $0e8 BR0HTV 3028 FHER JZFO.
2. 08I B0ES D> GUIeeST TSV 0.

3. 3geds 5orR0d Boedf [iog, NBOBBORITE.

4. S030A7 BeTE TIT FeNNYRD wENROBE0.

A:-1,2,3and 4
1,2,32034

Correct Answer:- Option-C

Question49:-Assertion (A) : Government agencies like ICDS and Anganwadis play a
significant role in



pre-primary education in India.

Reason (R) : They ensure nutritional health and educational support for young
children and their families.

S350BW (A): DARIFE BZ0 WONTVHRNY0IH FTOTD 3o§ﬁ@b PIVITY BPJE-FPRPT 873D
msgcs m@d@ BRI,

500 (R): &) zsg mgefo R0B) [T BN w‘a&aﬁ e.-sdfacg R0 a;geg"ﬁ ﬁowodgo
DWBIBROZT.

A:-Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) 303> (R) 0B Az, =030 (R) @020md (A) 030 3D030E dSCE0309NTS

B:-Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) S0 (R) 0B %, B3 (R) @0w0@0 (A) 03> 3D03IeE DSCFOY

C:-(A) is true but (R) is false
(A) 0z, w33 (R) @3:3’

D:-(A) is false but (R) is true
(A) eaﬁg, es33 (R) O

Correct Answer:- Option-A

Question50:-How can inclusion be promoted in early childhood education by
addressing the diverse cultural and social backgrounds of children and their
families ?

dage.;b R0 90 BOELOWNY a;é:)cgdooi) mog)éﬁ R0B) TR Soa;eirﬂ@.fﬁb DOBORS IPOT

WRYE Bgerg) ZeXF BT BT SUICTRIBIE ?
A:-By creating classroom activities that reflect and celebrate all children's

cultural identities
DY dgg’%” mog)éﬁ mdo@bm@) g;%?bozbzbs R0 e230ROS NS www&%mfﬁb TUROR SONROT

B:-By standardising teaching methods to avoid cultural differences and
maintain educational neutrality
FO0R 3T 333§ﬁ@§ab AP B B TEFT 3L33030FD TODORERYED WRCTOO JPIVNFSO
& 3 o « o o ® o ) o

g RIFCTOR SONPOT

C:-By encouraging children to adapt to dominant cultural norms to ensure
uniform behaviour and learning
DFVAST TEIFE P FIFobP> DUSIBRERFEL S © 759053 CLFNYT Be0BBRFLD

SOTIRO F %R0 BT
D:-By limiting diverse discussions to reduce misunderstandings and prevent

potential conflicts
3%&%@’@ TRR) DBV B0 30@? 3o$ﬁ€m§§o 3dadoen a‘;&)zgmod) zSzSFri@e’gJ

2eQBRAFRIS S0P OT

Correct Answer:- Option-A

Question51:-Educators can effectively uphold the principles of the UN Convention
on the Rights of the Child (UNCRC) to ensure children's holistic development and
participation in their education.



miee’ 3307, eaz‘pag)a‘pmgo 85603 zpaﬁd&ﬁo&)ﬁoi)ﬁb 9)%333&%6@3’& 87500 é{)gﬁogod) mge;
3§me: F393¢33 (UNCRC) 3%1%@3 F0a30T003I0N 3&HRAIRIBITO.

A:-By actively involving children in decision-making processes that affect their
learning and

well-being, respecting their voices and opinions
030 T 0B 0deengedr Soed FOHoRL VeCOS APeT 3%06@3()5 S3odnvd mg@go

R 030aN a/acsﬁzmgm SROT, OIC 3%33 R0 eazi)@owm;’gb MOC RN BONOT
B:-By strictly guiding children to follow rules without considering their

individual preferences or perspectives
dage;’ %o&@ﬁ eazgémi) (Dlamvp) q)a’%dﬁfae&mfgo Silelatxria] K)Qba'briee’gb £9BORDREN ﬁego&ésa&ﬁ

DINEBVBED ACBIR IONROT
C:-By minimising children's participation to maintain uniformity and discipline

in the classroom environment
30n80d HORCBEY HBCRDI R0 §§§b mméﬁﬁg’o@dﬁ%ﬂ :pge: zpaﬁwéoﬁoébéodogo TR

RINBIOR DOROT

D:-By limiting children's independence and emphasizing complete reliance on
educators for learning decisions
mig’@; m?oggga 2e03RAFROT ST B0 I Aersnwnon 8350 SoedS ZoFper

essoowa"abgo 6%&@305 SoNReT

Correct Answer:- Option-A

Question52:-The key strategy used to modernise Kerala's education system was
$eovs 8geo gsgojogo SEOACTOIO WHB FI0D 3083053

A:-Restricting access to modern education to urban centres, leaving rural
areas dependent on traditional methods
BSE0T 876 édcéwgb ®7o Feom NYn 2eIRAYRIITO, NP H, deémfgo RI0HYWI0NT

APIPNY 203 9TF©0LZTNIR03 BINBIRNEO

B:-Preserving the caste-based exclusivity of education while introducing
modern subjects like mathematics and science
nedd S0P IPDBoSH BFIVT &ﬁoi)mfﬁb BOWORODN 8T D 2508 35003 g%eséodogu

ROTFRIF)BEO
C:-Establishing an inclusive education system that provided equal

opportunities for all communities and emphasised secular and scientific learning
DY FBVWIONAYR TS0 essaaérie;’ﬁb WE NS BN mgées 202 F25dT TIFN W

B R0, 8Te0 ?dgodoﬁb m@&zb@do
D:-Focusing exclusively on religious instruction, neglecting the integration of

science and secular subjects
PIFT 3REFBOL BoedS B3eg, NRBOBBOZBY, JgF® 0P mgées JRONY eo%eajsasﬁb

QOFIROFYRO

Correct Answer:- Option-C
Question53:-Match the following Indian philosophers with their contributions to



education :

List - A (Philosophers)

1. Mahatma Gandhi

2. Rabindranath Tagore

3. Swami Vivekananda

4. Jiddu Krishnamurti

List-B (Contributions)

a. Promoted education as a tool for self-reliance and moral development.
b. Advocated creativity and nature-based learning with global awareness.
c. Emphasised holistic education encompassing physical, mental and spiritual
growth.

d. Encouraged free thinking and experiential learning for life.

8% FYNS ga03cadd 3:&33&”1%@3 §gsa§30'wo@m 0930 BRBONRNLL 0N B0V :

D3 - & (3375AN0)

1. mmg arlelal

2. BQeoT R ésaéﬁfaeo‘

3. B0 D:JeTBOR

4. B3 FRBORSE

56%5 - D (FRBEONAL)

a. FIBOT P 3T ©YF N0 ToFTTN SFETTO GUZERATTO.

b. 2527187 IR 0HN FERIend D B73 ©703 TAFLTO & SHDETL.

C. Th%8, SNTVAT [B0P BGRIT W¥SedioddRd wIeoE 07, 8ERTO 28 BEIETO.
d. 23e3TTN B0TDE W03 [0 WTIYP[E FATLTO HP TS0

A:-1-c, 2-d, 3-b, 4-a
B:-1-b, 2-a, 3-d, 4-c
C:-1-d, 2-c, 3-a, 4-b
D:-1-a, 2-b, 3-c, 4-d

Correct Answer:- Option-D

Question54:-What characteristic of pre-school children makes play an essential part
of their education ?
BOIRORE ﬁogvj 03093 ROEIVTEID) esémgo 30 8zea eagﬁtg’ IONZINROIE ?

A:-The natural ability to sit and focus for long periods
DeFETO DYV NSOBBORS FRINET mmcgs'

B:-Learn best through observation and activites
DETE T WEDRNEIBFNY Foe©T LN FA0IVDT

C:-Function only by following direct instructions
e3 2eeSBRYPO TORORE BT B398, To0IE VSF &BIB

D:-Cognitive development occurs primarily through structured lessons



90N ¥ BTN O209gT Ho0MY 00T R0IAROIT

Correct Answer:- Option-B

Question55:-Which of the following are key features of an effective pre-school
classroom ?

1. Separate learning corners for specific activities.

2. Strict discipline to limit movement.

3. Child-friendly furniture and colourful decor.

4. Limited teacher interaction during children's activities.

BOFRVTD FoURFRZE OIS0 FR0D ©FENNY 03R)F) 7

L. DR 23ee3Brinen Z3ew 59303 ZrieDd.

2. ¥ododgh Q8rtedaen FELAAS S30.

3. S0TY Fedo HCTRERTO LN S0P SLFT 023 WO0TT.
4. ST 23e0FIFY FOOTBY 2396 T 0SB,

A1, 2
B:-2, 3
C:-3,4
D:-1, 3

Correct Answer:- Option-D

Question56:-Assertion (A) : Play-based learning is critical for pre-school children.
Reason (R) : It helps children develop motor skills, social interaction and creativity
through engaging activities.

S3T90W (A) €383 35008 FATAIL FRBPAT Too mgeﬁﬁ Q55 030TRNT.

500 (R) 960 (030 aracsmm«gow WEDB[EIBNY FoROT WOD ﬁaé%)mfo, AO3IOT HOSHBO
P FEBeI0TO RFLDRRL 3F0D [IEIZU.

A:-(A) is true, but (R) is false
(A) Oz, 33 (R) eazg

B:-(A) is false, but (R) is true
(A) wﬁg, es3 (R) O

C:-Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) S (R) OB R, 03 (R) 20200530 (A) 030 FO03NE DSTE035NTS

D:-Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) 03> (R) 0B Az, 030 (R) 202050 (A) 030 3D035E dFTE5030Y

Correct Answer:- Option-C

Question57:-Match the Pre-school classroom features with their purposes:
List-A (Classroom features)

1. Learning Corners.

2. Child-Friendly Furniture.

3. Storytelling sessions.



4. Group Activities

List-B (Purposes)

a. Encourages language development and imagination.
b. Enhances cooperation and teamwork among children.
c. Provides a safe and comfortable learning environment.
d. Offers specific spaces for varied activities.

ZoUFRBE 0300 FIRNYIL WP evdesndioodt Bood? :
B3 (3030 FBH0)

1. 398030 p¥ried

2. Forb Feb SedncaEsmied

3. 53 3T [PALD

4. 1OOP) WeSEIBFNRL

B3 (evgesried)

a. PR WFIeI S0P FYRBOLT) FR TSI,

b. S07¢Y 3%T0 P> 0BT FORITHO BT,

C. R0033 B0 ©300T03T FIT F9F[T [P0 wWBNROZE.
d. ﬁdg)zgmoda 23e203E3BNRIN ADEH ZINIR0 VeI,

A:-1-c, 2-d, 3-b, 4-a
B:-1-d, 2-c, 3-a, 4-b
C:-1-b, 2-a 3-d, 4-c

D:-1-a, 2-b, 3-c, 4-d

Correct Answer:- Option-B

Question58:- was the main limitation of ancient perspectives on
education in India.
PR0RQ Bgeas wif RUCER FAPACTNY S0P 3 esN.

A:-Equal access to education for all communities
DY FBVTNYR égea%& BN F3e3

B:-Caste-based exclusivity and limited privilege
2503 85003 FZeTI S0P 26T ZZOD

C:-Prioritised technical and scientific advancements in education
égeadg? 39Q3T 0 %gp&)ﬁ g nan 6:8%53

D:-Secular and democratic education for all



DPONR 2508838 P FesFuhg Jgeo

Correct Answer:- Option-B

Question59:-Which of the following defines health as "Health is a state of complete
physical, mental and social well-being and not merely the absence of disease or
infirmity" ?

8 FINSI)NYY 030D, "e;sd/aerg DOBT BOTBYOEIE ToT, [BIOVAT 0D FI[IWT A3 CNGe=TI
%3, Bes3o Croen ogse cfazor%)zzs TTAS0DE " 030 esd/aergdﬁb DEINRIITS ?

A:-A.M.A.
. 0. Q.

B:-C.D.C.

2.8.2.

C:-Biomedical definition
zﬁeédd%i%cojo mzesa{d

D:-None of the above
S0edW 03RIEBSR L)

Correct Answer:- Option-D

Question60:-Factors adversely affecting physical health are
l. Violence against women.

ll. Lack of hygiene.

lll. Unhealthy habits.

IV. Improper nutrition.

V. Family conflicts.

0,80 eadfaerz'siw SoedS F3BNPO FDFR) DECIT Wo3NRLD

l. R0&B03T S0edT o’azss-azss.
Il. a@:mregcs BR03.

[I. eamdfacgaj eszpaaf%’ﬁ@b.
V. 930233 FfcRe.

V. 39830008 PRETBNLD

A1 10, 1, IV and V
L1 L 1V 203 V

B:-Only II, lll and IV
1, 1102 IV 3508

C:-Only I, lll, IV and V
LI 1V &S0V

D:-Only I, I and V
l, 11 S0 V

Correct Answer:- Option-B

Question61:-Which of the following reasons result the complications such as
abortion, lack of adequate breast milk, birth defect, injury to the babies internal
organs ?



My3eoe3, 0LEeR HUBOR B03, BotdRN Wees, 8300 30307 wortnedr neody 83 3¢NT adsess
FIOLINYOT GLOEIITOIZT ?

A:-Consanguineous marriage
(O VAT ARANDE

B:-Marriage at the age of 18
18e 3030ARBY Do

C:-Limited interval between pregnancies
N2IE PO HNY BBRODT ACAI3DE 9030

D:-Conception before the age of 21
21 50—-&?1303 RRBO NP PO

Correct Answer:- Option-D

Question62:-Which of the following statements about protein are correct ?
|. Proteins contain carbon, hydrogen and oxygen.

ll. Serum albumin is a protein.

lll. Proteins are organic compounds of nitrogen.

IV. Proteins are good for efficient absorption of calcium.

Rpctden wrﬁ\ 88 FYNT 0300 BePFNLd 3O03NS ?

| dgetden® red RoMmo, B DD BFWRTIT HP0WCIZH.

I1. AETR5® 9LNAOT® DOWIBO 2WORD FPetden®,

1.5 ct3en® Ned FA0WRTE o030 F003VTNTNS.

IV. dpetden® ried TH0d0 67 H0HeTHOINN &HedERFL UK 0INTDAEE.

A:-1, 11, 1l and IV
1, 11, 11 R0 IV

B:-Only I, Il and Il
1, 11 o3> 1 F598,

C:-Only Il and 1l
11 302> 1l 358,

D:-Only I and IV
| S0 IV 358,

Correct Answer:- Option-C

Question63:-What is cretinism ?
Be30%0 Hor3BeR0

A:-Disease caused by calcium deficiency in food
85039 5990320 ,00I00T GLOE5INIT F20NS

B:-The disease that occurs in a newborn due to the lack of iodine in the diet of
the pregnant mother
NP e 39000 BT ©903,PCBI® BHTI0DOWIN T35S 830IVE) FOBIRTIS Fo0WES

C:-Kidney dysfunction due to dehydration in the body
BexrQ Ve AeTCDOTIN SIRZH0BE REOTET 303



D:-Fragile bone condition seen in adults
S000F0Q TOERITIE BRIFO S0 33

Correct Answer:- Option-B

Question64:-Table given below represents a balanced diet for pre-school children.
3R QB O &meﬁﬁ@ DOVITORE mg@ﬁ 0303 esaadﬁgb S30RI3

VoW V[ N
© @ @ | @
150 150 200 200

A:-It represents high cost balanced diet
PAAN éz&@ 5%355 03003 Gmdﬁb S30p03TS

B:-It represents low cost balanced diet
0 TR SUB 320D 8HITITO B3PI

C:-It represents moderate cost balanced diet
RAAN :n?ab d?gd A030eD3 esaaddﬁb SEIVARCEN

D:-It represents very low cost balanced diet
B3O 300w FRB BYD 330Z0¢I3 HITITO B3PI

Correct Answer:- Option-B

Question65:-In which situation should be following first aid steps be taken ?
l. Allow some time for the bleeding to stop on its own.

Il. Cover the wound with a clean cloth.

[ll. Wash the wound with mild soap and water.

03503 3623%01)@ 8 YN BP0 (ASEDY @daﬁ%”go 3(%03&3’2365) ?

|. OB 3&)}{0&3 3oRe Qe §S§ V0D DB 2ICB).
I. modoaﬁb gzgm zoé%gbod dmgz:?eﬁo.
1. moﬁosﬁb @%de ARCTE 02 VOV SPodoeIed.

A:-bitten by insects
$eesnYor m?ézmoagd

B:-bitten by snake
BHOw) 52336

C:-bitten by dog
QDIeVS) szszgd

D:-there is a wound
modomﬂgd

Correct Answer:- Option-C

Question66:-A government scheme that ensures girls education and future financial
security
BED mgeﬁ 8ge0 oD z,dé,’)cgd Zlala ngéojogo B BRI 0TO Al

A:-Integrated Child Protection Scheme (ICPS)



:,’:nﬁ mﬁv (o< {oD) 03205 (02DF°)

B:-Sukanya Samrudhi Yojana (SSY)
BT ABYR adeewi(5° 25 )

C:-Betti Bachavo Betti Padavo
23ee3 W2FRRC 23083 BT

D:-None of the above
R0eDT 000D S 9L

Correct Answer:- Option-B

Question67:-Which of the following is an integrated health management
programme that has a collaborative approach to improve the health of people,
animal and environment ?

8 SINIF)ie)) adoeimo 3307, esBeert ASE B T2OFFROTNGD, R0 LWV, Fedned &

%003 Bdfacrgdib ROV FBOdNRCNIE &mﬁdﬁb BR0RT ?

A:-Public health bill
TORE BT ead/acg R0BNT

B:-One health programme
W® B FPEIYO

C:-Tele medicine system
aN¥pe] a':jcg%cob ?575”

D:-None of the above
R0eDT 0d0oFBS 9L

Correct Answer:- Option-B

Question68:-Bordetella Pertussis is the causative agent for which of the following
disease ?
Wedr e300 BedFATE B8 FYNT 0300 To0DETE a0 €003 ?

A:-Mumps
3§m@

B:-Chicken pox
203G BRI

C:-Whooping cough
©I0D 6%1)

D:-Diphtheria
notsendecn
Correct Answer:- Option-C

Question69:-The figure given below is an example of
YN ABUAT WZR) 1 20030 GVTPETF030NT.



A:-Law of similarity
BRCAF03 A0ID

B:-Law of closure
dwzgo:béojo QOO

C:-Law of simplicity
F0Y3030 QOOR

D:-Law of proximity
mme—’%oa"ab QO30S

Correct Answer:- Option-C

Question70:-You might have seen children feeding dolls, according to Piaget

conscious thought is a characteristic of which of the following developmental stage
?

.d.)g?%b o023nYR es30 &@o@dﬁb Qecg) BRCBOWBIB), 03702 FTAT 2573 2303030 8%
BYINS 030953 USR03 H0IW ©FEITINTS ?

A:-Sensory motor stage
ROSCTEM 23O BOI

B:-Pre operational stage
RORE TOIIE WO F03 B03

C:-Concrete operational stage
SRIE T0JTE T T3 B03

D:-Formal operational stage
BD2300T Fo0300e 230F03 B03

Correct Answer:- Option-B

Question71:-A student knows that the sum of eight 10 rupee notes is 80. But he
finds difficult to answer the question on how many 10 rupees are there in 80
rupees. The student has which of the following limitation ?

20t 10 Tema0 Rdectnd 3,63 80 20md HmeReTt 390T. &rd 80 Sumeotnyd oo 10

Cua0207iess How) B31T eugdaen =R 6§mm§d. QEPETT B FYNT 0dooss 3 ]I ?

A:-Conservation
ﬁgdeFéa‘

B:-Reversibility
&RVDI3
&
C:-Reflective
aﬁgw

D:-Logical thinking
3986 T 2303



Correct Answer:- Option-B

Question72:-In Allport's trait theory, Gandhiji's honesty falls under which of the
following traits ?
38R0 S0 ©FE AW03BY, MP0RELOIIT FISIeds30d00 T8 FYNT 03593 ©FENY RBOLY

WTOZW ?

A:-Central traits
geoQeodd ogened

B:-Secondary traits
a‘gambs ©Zearied

C:-Cardinal traits
TR VO® ©Fearied

D:-External traits
m% e)gaomt

Correct Answer:- Option-C

Question73:-Who is the chair person of Central Coordination committee under the
Disabilities Act ?
£90NnDTT Faod%odaé $eog, 5&@50&) AAV303 @%Sgd‘) 035900 ?

A:-Principal Secretary of Central Education Department
3eos, 870 Y30l FHeR To0IFBEE

B:-Principal secretary of Central Social Welfare Department
300w, IR0 5%)389 Q3030 PR TOFTBE

C:-Minister of Central Social Welfare Department
$eos, Be300% 6%)399 Q233030 FWS3

D:-Minister of State Social Welfare Department
0% AR 6%)399 Q3933030 %3S

Correct Answer:- Option-C

Question74:-Who formulated the given equation
IQ=MA/CAx%X100 ?
BREIXOZ ZA0eTTed [Q=MA/CAX 1003553 035900 CBRAIBTO ?

A:-Spearman
A030TE o

B:-Therson
AETON

C:-Howard Gardner
BOSBEE mgs'os

D:-Alfred bene
8385’@(3‘ 2



Correct Answer:- Option-D

Question75:-Which component of a child's intelligence is concerned with reading
and analyzing maps, charts and diagrams ?
STV WORBZ03 03593 9033 TFND, s@egsmw S0 Teasordg mfgb WBOFBO 0B

DBeARIBE, FowoP2s ?

A:-Linguistic intelligence
(DR zoo&@dog

B:-Logical and mathematical intelligence
Fo%ET 0P Nedd ol

C:-Spatial intelligence
EIANLRANI AV

D:-Existential intelligence
es_zo,gmw wo&@:pg

Correct Answer:- Option-C

Question76:-People who don't have children love pets too much which adjustment
technique is used here ?
abige?gcs (0 O8] mﬁ)@eﬁﬁvﬁb 300239 &e37039T. VY 000 BROWIESE Sogajgb WIS ?

A:-Compensation
6036“’&5&‘

B:-Identification
nOBL8RONF

C:-Displacement
RY03DROT

D:-Repression
BIOIRIIG

Correct Answer:- Option-C

Question77:-Laws protecting Woman are
l. Article 15(3)

Il. Article 51(a)

[ll. Article 14

IV. Article 39(e) and (f)

V. Article 24

méoéododgo TZRIS ToRRRONLD

. 989 15(3)

Il. 99 51(a)

. 99 14

IV. 99 39(e) and (f)
V. 9924



A1 10, 1, IV and V
L1 L 1V 203 V

B:-1, 11, 1
L, 11, 11

C:-l, 11, IV
L, 1, 1V

D:-1ll, IV and V
i, IV &332 V
Correct Answer:- Option-C

Question78:-"Personality is that which permits a prediction of what a person will do
in a given situation" is defined by
"F83 08T 2y FEodo ADFH FDZ0HY DT FREITIT DOWBFO NRHILD BT

SIBEREOJEO" 0B a‘a?gaa?f‘()msdo

A:-A Allport
. eseifaaees‘r

B:-R.S. Woodsworth
e30°, 5. @csf\,da"‘r

C:-R.B. Cattel
e3P, . F%ksos

D:-Dashiel
caaz?o:beﬁ

Correct Answer:- Option-C

Question79:-What is the correct definition of ‘Gram Sabha' as per the Indian
Constitution ?
{03030 FODPIRVE FTT 'Y 783 03> 300 a‘a@aa?p 03000 ?

A:-a body consisting of all the members of a Gram Panchayat
MY T0LIDOW30 DY xcﬁgdgu WP ROBCOS 0B 50*8"

B:-a body formed by the village head to discuss developmental issues
@@%Qsmgnvﬁso WWEROL NYRVT m%bgdo TwE w0md K0Z

C:-a body consisting of all persons registered in the electoral rolls of a village
within a Panchayat area
S02500308° B T3e3BRRINT PRI L0V Be3030) BCOTTIONITAT Do §§ﬁ@e’§3

w¥RPOBCOS 20030 50,;,"

D:-a body consisting of all the permanent residents of a village
RGP 320300 VANTFY wHr1A0BTIE 2060 F0F

Correct Answer:- Option-C

Question80:-Consider the following statements regarding the Panchayati Raj
System in India and identify the correct ones.
i. The Panchayati Raj system was constitutionalized through the z:Amendment Act.



ii. The tenure of a Panchayat is five years, unless dissolved earlier.
iii. Panchayati Raj institutions function as per Part Xl of the Indian Constitution.
03B LB0230303¢ TaLs® ?3@"033 O3 B8 FYNI £e@6ﬁ@§o F08ed2 D Saoimcﬁ@ma’go

nROCL3Y.
i. 738 88oxB Faoigbcﬁo RIOT BT0LFVOII TSt gsgcmga FIODPINTIIAFI00D.
ii. S000e3ZBN DFWFANF T, T00dTE © WPHTITRY B0 SREN.
iii. ©02500303° To23® 3o§mfo 03e030 B0DPRA Lon X| B B350 50030 AR HAIZT.
A:-Only i
i 2098,
B:-Only i and ii
i 202 i Bog
C:-Only i and iii
i &0 i B8,
D:-All the above
S0edT YRS

Correct Answer:- Option-B

Question81:-Consider the following statements with regard to State Election
Commission.

i. Article 243K provides for the establishment of a State Election Commission.

ii. State Election Commissioner is appointed by the President of India.

iii. The superintendence, direction and control of elections to the Panchayats shall
be vested in the State Election Commission.

Which of the statements given above is/are correct ?

et WONIIT e;soiracﬁﬁ& 20003 B8 FYNS éee?ﬁrﬁ@e’go 208cD2.

I. 243K B3 Dags wovesize $0deers TSTR 9558 EI3H.

ii. D% 2omITFTD 03I 0T TagBEND FeRIFT.

lii. So2500dr3°® MY WoTeRTRNY Boedi308, Vuier3E 3 A0OFL[FO Tags WITRHd
303ReNE, BéReRNRIZT.

B0edS QBB BEFINYY 03003130 FO03IINT/ZD03IONES ?

A:-Only i
i 098,

B:-Only i and ii
i 0 ii B3

C:-Only i and iii
I &0 il B8

D:-All the above
S0 YRS

Correct Answer:- Option-C
Question82:-Which among the following committee was appointed by government



of India in 1977 to recommend for improving efficiency of Panchayati Raj institution
?

B S9N 3INEY 197709 1703 FooF0D) Bors0ds® Tont RoFad Bk RGO Be0R
RoEen 0dsEs 3D080R SFeQ028) ?

A:-Balwantrai Mehta Committee
WOT03* D03 0% 23

B:-Sarkaria commission
2T D030 esadeen

C:-G.V.K. Rao Committee
2. . F. DI IS

D:-Ashok Mehta Committee
9B CT® ﬁo@ EIADY:)

Correct Answer:- Option-D

Question83:-Which one of the following subjects has not been devolved to the
Panchayati Raj Institutions under the 1« Schedule of the Constitution of India ?
88 FYNT 03003 &)ﬁoi)sﬁb L03B 30JFINE 118¢ é’%s’Jaéai RO H0e300303°¢ Tazs® FoRNYN

»0WF FoEUNY ?

A:-Higher Education
em§53 8geo

B:-Women and child development
B0de F0 mg«s eazpwe)&@

C:-Non-conventional energy sources
FI0B WIOTIYE QOTE SRONLD

D:-Implementation of land reforms
B0 PV HBNY CONSOIY

Correct Answer:- Option-A

Question84:-Which of the following statements regarding the State Finance
Commission is correct ?
0% BEITIR e303eNE TOOD T8 FYNT 03003 HBEYFNL FD03TNES ?

A:-It is constituted by the Union Government every five years
m§> 3e0R, FOTITR) T8 03O 53-5Fm?m53®dz353§13

B:-It recommends the measures needed to improve the financial position of
the Panchayats
202300303° N s$PHFT ?ééabgo EOIADIORI W) esrigc‘:)dod gmnvgo QB EHATR SBOZT

C:-Consolidated fund of the state shall be placed at the disposal of the state
finance commission
023 DFEFZ VDT Tags HeoFord B03RENE HSeDY FECB)

D:-All the above
S0 YRS



Correct Answer:- Option-B

Question85:-Consider the following statements regarding the structure of
Panchayats.

i. Every state shall establish Panchayats at the village, intermediate and district
levels.

ii. States with a population of 20 lakhs or less may not have intermediate level
Panchayats.

iii. Gram Sabha, Block Samiti, Zila Parishad are three-tier structure of Panchayats.
Which of the statements given above is/are correct ?

202590308° N¥ T233030 B0 &% FLPNS £ee?%r1%”ab 208cD.

i &3a3e0md oazs@ 9, dgwoa’d S0 VY mm@ 202390303° ﬁ@é’ab —ac,o,ozjcﬁ)

ii. 20 o7 ©gze esw%oé TR zsai,oo;ﬁ BRORTOR oazgmib mwors’d :pé.sw wOZ&BO:bEG ﬁ%fﬁo
B0 LITT0.

iii. MY B3, T® N3, WY TORS® BTy B03W H0L50303° TeiadTNG,

R0eS QBT BePFNFS) 03703130 $D03ING/ D3NS ?

A:-Only i
i 308

B:-Only i and ii
I 203 i B8

C:-Only i and iii
i &0 il B8,

D:-All the above
R0ehT dQFf

Correct Answer:- Option-B

Question86:-Which of the following statements regarding the powers, authority and
responsibilities of Panchayats is correct ?

i. The preparation of plans for economic development and social justice.

ii. Panchayats have no power to levy taxes.

iii. The powers and responsibilities of Panchayats are determined by the State
Finance Commission.

B02500308° N¥ PTITN, VPTIT BB 2NV NY DD B8 FYNE 0dress BeFEneL ID0ITNE3

i. 3T eazps@aomgo JORIOVT mgai)a%ﬁ o&famﬁmfgo z,gmzb@m
ii. B0250308° Nt 301} DPROS WPTITIY.
iii. B02w0d0s* NY HTITNRL B0 zsmzoa@bmfgg 0% BeoToRL es0deen APE ORI,

A:-Only i
i 098,

B:-Only i and ii
i 0 ii e

C:-Only i and iii
i &0 il B8



D:-All the above
8 30TV YR

Correct Answer:- Option-A

Question87:-Who has the authority to make provisions for the maintenance and
audit of Panchayat accounts ?
B02390308° 293NY ASE B RIZ) ej'gaiaéfaec,ﬁﬁ K)zoocj@mfga RIBOT 9TOT 035001 AT ?

A:-The Governor of the State
oazgd oagmodo

B:-State Finance Commission
oag 29T sodeen

C:-Accountant General
e959083083¢ BRTF

D:-The Legislature of a state
oagcﬁ SoRTION

Correct Answer:- Option-D

Question88:-Which article of the Indian Constitution defines the duration of the
Panchayat ?
23908030 F0DFIVW 03093 NP3V B0250303° & wwéodoﬁb a‘aze)ag‘()ﬁogd ?

A:-Article 243E
A 243E

B:-Article 243F
A 243F

C:-Article 243G
A 243G

D:-Article 243H
O 243H

Correct Answer:- Option-A

Question89:-In January 2025, which Indian official encouraged women Panchayati
Raj Institution (PRI) representatives to adopt artificial intelligence and innovation for
people oriented governance ?

BRSO 202539, advexm PaTdeodd RTD, Bébvd F0wp0d>3s® Uz Zog (PRI) g\%&)@r{%@o

BOIHOS BEFITN FIT WIBRIZ SO TICTRT IFIBATAFOD FRe3SATT ?
@ = o S J ~

A:-President Droupadi Murmu
Cog®3 PR [0B00E

B:-Prime Minister Narendra Modi
@@Eﬁ&q@ QjeNeARAVANA

C:-Lok Sabha Speaker Om Birla
S RCTILID ALTO® %0 Deor



D:-Minister of Panchayati Raj Rajiv Ranjan Singh
2020303 Ta23® 3WI TR T Jon®

Correct Answer:- Option-C

Question90:-Which of the following best describes the scope of public health ?
RSB URENE S0doRd B IFNIF)NTY adndhEy evgadrezon D=S0RIH 7

A:-Treatment of individual patients with chronic diseases
DEPETOT F20VSNYOR WF¥LVITIB B303) BeeNre 1383

B:-Preventing diseases and promoting health at a population level
zsaisoaaazsmée.dﬁg? dﬁeﬁﬁ@e’go 3@@3@@0 S0 esdraergdgb VARV A

C:-Solely focusing on infectious disease outbreaks
RReoBONED &0F) Beenne DTN BOBINTOL Hoeel B30, FeoR CTORIFIO

D:-Providing emergency medical care
D ddgssaeodo esddﬁodogo LB NROJYBO

Correct Answer:- Option-B

Question91:-The public health approach transitions from problem identification to
response. What is the significance of the "What works ?" phase in this process ?
TORE WNT eadfacg QBIVR) 3m§ RIBO8RODF00T T 83 0dor 3633F§M3b§d. 83 3303009

" DT FOR DoNBIZT 7" B03H magdem ?

A:-1t determines whether policy changes should be enforced without testing
interventions
B0eg0d mg,%%ne?gd’ 0ed WFRIBRIR 38,000 PRLIET DB FWO AFE0ZZW

B:-It evaluates the effectiveness of different interventions before large scale
implementation
Vg ZRs0eas CLONEDINA] VO AISVID AN) éi)ng mg@w 38@&)&)6%3@ @gmw SI0BOZT
C:-It focuses solely on implementing already established solutions without
modification
[0 BRTIEBINIYT SMoniSSe To03000 BOTIORTY) T20LENSRATRIIWC Loed [

$e0R) ORI

D:-It eliminates the need for further surveillance once an effective intervention
is identified
R O0HORT0 %gﬁeﬁdgo ROCL3AW 9T030 VB éz&@ Gmndc‘)& @ﬁgdgb WpleAVEin

Correct Answer:- Option-B

Question92:-Which of the following best describes the difference between universal
and selective prevention strategies ?
83 FINBIYNYY 0dreF)B0 TS 8T =0B0 B030 3cé’ﬁéédso&6 308 NY BBOIS ?3@53@3 V30N

DBOROIE ?
A:-Universal strategies target only high-risk individuals, while selective

strategies target entire populations
RIRE 3T 303110 m&p 2925003003 ggmfgo =598, TOO03NABP0BT, £3030 30Z7ed F0TSREE



zsaiﬁo:ﬁng@ maommmgbgﬁ

B:-Universal strategies are designed for entire populations without identifying
at risk individuals, whereas selective strategies focus on groups with known risk
factors
FITIE 38 J03n¥P0 9590306 GoOI FEngh MsL3RT, ZoHper WIROPN IVIRNPYICING,

BT 3030 30§ﬁ@e’§b SYCOR 959030520 eaoémfﬁb BRODTOR MOORYNY Soeel
3e0R e50RwanHZTS
C:-Universal strategies focus only on youth with early symptoms, while

selective strategies aim at those with diagnosable disorders
FOTE 38 303Ned 00T TenoZenedgd &0ty 0dasss Sied Big eoResdRIZEs, BT

3030 3087ied Bueert ALF 03D [IATW BT wggé’rﬁ%”ﬁb ?.?Jaoadodadgo maoimﬁ.%&ag)ga"
D:-Universal strategies and selective strategies both target individuals with

significant symptoms
ROIF 88 Bogned 0P 8> 30greh VBN TRoPeDs VFLNTRD H0W00 SENIED

RoD03eNZOZS
Correct Answer:- Option-B

Question93:-Study of the distribution and determinants of health-related states
among specified populations and the application of that study to the control of
health problems

VR wmR030d0Q estacer 30053 ANV IV P Aer 0dT 03Ny @zgabrxi 30

sder 303 A00Z e, & eacgodowd POl

A:-Epidemiology
AO0FINT BRCNTYR

B:-Public health
ORETNT esdfaeg

C:-Pathogenesis
BRensa0E3

D:-Primordial prevention
BT SRBredIT

Correct Answer:- Option-A

Question94:-Which of the following is an example of a positive health indicator ?
8% FINSIHNYY 0300 3&)0336 esdfaeg muﬁq VTOBO 03NS ?

A:-Infant mortality rate
880 S00 € F=9€

B:-Disease prevalence
BRen BOBOIT

C:-Life expectancy at birth
WORA F30000F ) 23eDTRY

D:-Hospital admission rates



323 DS gmgg

Correct Answer:- Option-C

Question95:-A government decides to integrate a successful maternal health
program into national policy, ensuring sustained funding and legal support. This is
an example of which type of scaling up ?

FOTIOR) odoézzz 39030000 e;sd/aerg F&Q‘bi—'@;bdgu T £03) Qe300 Zo0deeTILD AT DRIZT,
V0030 FHeager0 [0 FoReT) W OSHO DSIBROZH. o 0dsess Dedod Feed evgar

VB0 £0359NT ?

A:-Horizontal scaling up
B Jeed eugs
=Y

B:-Vertical scaling up
0D Feed eug3

C:-Spontaneous scaling up
zodooged3 Jeed eugs

D:-Diversification
a;&’)@zsﬁ‘ﬁb’?a

Correct Answer:- Option-B

Question96:-Which of the following is a key objective of India's National Health
Mission (NHM) ?
8% FINSI)NPY 0300RYB0 LTS oaédcod) eadfacg QF®* (NHM) 8 S=3000 emcgcéwaﬁd ?

A:-Providing universal health insurance to all citizens
DY PINOTON FoRE 3T eadfaeg :)doodogn W NROFHBO

B:-Enhancing equitable access to health care
ead/acg ogeant m?}oifaczss @5&)55?9 &%ﬁoszo

C:-Establishing private health care systems across all states
DY oazgﬁee’eg 9N esdfoeg gsgne@b RIQRIYBO

D:-Focusing only on communicable disease eradication programs
J90%T Been AR OT Ta0RFTRINY 0SS [09g NSOBBORITEO

Correct Answer:- Option-B

Question97:-According to the National Health Policy, 2017, health care should be
oriented towards which type of approach ?
oag%cow eadfaeg Qes, 201730 gweo, ead/aeg 0ZE 0d0ex3 Ded0d Jponn TEIT epedzmeNceiesy

?

A:-Curative and tertiary care
RO BRI o3> 3eadd e;sqjﬁ

B:-Preventive and promotive health care
3BMEOIT oD eugezss eBer OFE



C:-Private healthcare models
oaN esciraeg dgﬁ R alelal>e)

D:-Emergency care and first aid
B030F BTT 0B FTRO WY

Correct Answer:- Option-B

Question98:-The National Health Mission initiated a 100 day campaign to eliminate
TB in the country under the umbrella programme
Doy £0d0 esdfoeg R FeBBQ FoOTNSTO A0 BB 90giYe TOLEFRNT B

100 dsne @?Daimaidgo €30 0T

A:-National TB Control Programme
Tog£03> gadoBueert 030038 To03ETRD

B:-TB Hatao, Banao TB Rahith Bharat
gojodfaeﬁwgo W3R, md3§§o gojodfacﬁ 032

C:-National TB Elimination Programme
Togy£030 ZadoBueer Qe Fa03E TR

D:-National TB Eradication Programme
Doy £03> 03oBseer ABUOE TS FTIOIF TR

Correct Answer:- Option-C

Question99:-Consider the following statements related to Kerala Public Health Act.
i. The act was enacted in 2023.

ii. An approach of one-health for public healthcare has to be adopted.

iii. The social systems that provide health has to be strengthened and the
conditions that may cause disease has to be weakened or eliminated.

iv. It has replaced the Travancore Cochin Public Health Act, 1955 and the Madras
Public Health Act, 1939.

BCOY TR WAT esdfaeg Fa(ﬁ%ﬁ 20WORNAT B8 FYNS éc%mfﬁb 2082

i. 8 ma&z)ojoﬁb 202339 230018 30003030.

ii. FOREFWAT ead/aeg OZENN 203D - esd/aergd &)c,maidg) w%é&%&g’ﬁeﬁo.

iii. edﬁcgdib WRNROD TORILT gsgnvﬁb WOBBRLIER B0 Yeerd, 5a0emndS 56?%&1%@3
B £ ORRTIICT TN V0T RIELC.

iv. 960 300220800 3028 Fos3F 23T estaer 503y, 195581 S0 ra* F3F AT wdeer
5003, 1939§b WB AT,

A:-All the four statements are true
DY m%» DePFNRD V%3

C:-Only ii and iii are true
i S0 i B8 V%



D:-All except iv are true
iV BRCRBY SVITBLZP A%
Correct Answer:- Option-A

Question100:-According to recent data by Election Commission of India, which
state/UT had the highest percentage share of female electors in 2024 ?
203 IS Bodeend Rdeeds S&dod B30, 202409 0l Tagy/SeonerEds Sued o3

B BO&Yd ai.)rs’cmddﬁb BR0RD ?

A:-Kerala
FcoY

B:-Gujarat
gt oncy

C:-Puduchery
%) ANIA (o)

D:-Rajasthan
SRIZADIY

Correct Answer:- Option-C



